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SECTION – I
GENERAL KNOWLEDGE & CURRENT AFFAIRS

The new member state of SAARC nations is1. 

a) Afghanistan

b) Iran

c) Iraq

d) Myanmar

The present Chairperson of National Human 
Rights Commission is

2.

a) Justice K.G. Balakrishanan

b) Justice A. S. Anand

c) Justice H.L. Dattu

d) Justice Altasmas Kabeer

The first Chief Justice  of India was4.

a) Justice H. J. Kania 

b) Justice Patanjali

c) Justice Hidayatullah

d) Justice P. N. Bhagwati

India shares the longest border with5.

a) Bangladesh

b) Pakistan

c) Nepal

d) China

Headquarters of Amnesty International is 
located at

6.

a) London

b) Geneva

c) Manila

d) New York

Black Pagoda is located at7.

a) Khajuraho

b) Konark

c) Madurai

d) Mahabalipuram

World Population  Day is celebrated every 
year on

3.

a) March 8

b) April 7

c) June 1

d) July 11

Who is the Chairperson of National Commission
for Women?

8.

a) Ms. Purnima Advani

b) Ms. Mamta Sharma

c) Ms. Lalitha Kumarmangalam

d) Ms. Rekha Sharma

Which team won World Twenty-20 World Cup 
2016?

9.

a) India

b) Bangladesh

c) Pakistan

d) West Indies

Saina Nehwal is associated with11.

a) Football

b) Cricket

c) Badminton

d) Chess

What does SEBI stands for12.

a) Securities and Exchange Board of India

b) Stock Exchange Board of India

c) System Evaluation Board of India

d) Social and Economic Board of India

Who presents the annual budget in the 
Parliament?

13.

a) President of India

b) Prime Minister of India

c) Finance Minister of India

d) Home Minister of India

White Paper means14.

a) Paper used for currency notes

b) Government paper for printing

c) Paper on which the Constitution of a country is written

d) Government statement on a policy matter

The Wonder That Was India is written by10.

a) RomilaThaper

b) Bipin Chandra

c) A. L. Basham

d) Ram Chandra Guha
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Who permitted the East India Company to do 
trading in India?

15.

a) Humayun

b) Akbar

c) Jahangir

d) Shah Jahan

Sulabh International is an organization which 
provides

23.

a) Health services in rural areas

b) Good sanitation at reasonable rates

c) Low cost accommodation

d) Low cost credit

Who made the film Gandhi?16.

a) Shyam Benegal

b) Gulzar

c) Richard Attenborough

d) Govind Nilhani

Which actor recently won the Best Actor Award 
in Oscars 2016?

24.

a) Will Smith

b) Ben Affleck

c) Leonardo DiCaprio

d) Brad Pitt

Kyoto Protocol is about18.

a) International Trade

b) Refugee Laws

c) Cross Border Terrorism

d) Climate and Environment

Harare is the capital of26.

a) Zambia

b) Zaire Republic

c) Zimbabwe

d) Yemen

Tides in the sea are caused by19.

a) Effect of the Sun

b) Effect of the Moon

c) Earth's gravitational force

d) Under water seismic activity

The largest lake in India is20.

a) The Chilka

b) The Sambar

c) The Dal

d) The Nainital

Blue revolution refers to21.

a) Forest development

b) Fishing

c) Poultry

d) Horticulture

Sun Temple is located at17.

a) Assam

b) Odisha

c) Jammu & Kashmir

d) Maharashtra

Periyar Wild Life Sanctuary is located in the 
State of

25.

a) Tamil Nadu

b) Karnataka

c) Kerala

d) Andhra Pradesh

‘Saras’ is the name of22.

a) An aircraft

b) A tank

c) A missile

d) A submarine

Which of the following trees has medicinal 
value?

27.

a) Pine

b) Teak

c) Oak

d) Neem

Baglihar dam has been a matter of dispute between 
which nations?

28.

a) Bangladesh and Myanmar

b) Myanmar and China

c) India and China

d) India and Pakistan

Air-conditioning was invented by29.

a) Carrier

b) Voltas

c) A. Volta

d) Sinclair
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Which of the following member nations have veto 
power in the United Nations Security Council?

30.

a) USA, Italy, UK, China, India

b) USA, France, UK, China, India

c) USA, France, UK, China, Russia

d) USA, France, Germany, China, India



SECTION –II
ENGLISH

The author's tone in the passage is best described as32.

a) Concerned

b) Passionate

c) Informative

d) Opinionated 

Using the information in the passage as a guide, it 
can be concluded that 

35.

a) Humans do not possess the physical characteristics of the 

    flea because they have no use for them.

b) Humans do not pay much attention to fleas because they 

    do not pose a serious threat.

c) Fleas have many physical advantages, although these are 

    outweighed by their many disadvantages.

d) Fleas are designed in such a way as to give them unique 

    physical advantages in life. 

According to the passage, which of the following 
statements is true?

33.

a) Fleas extend their little spines if threatened.

b) Fleas have the ability to jump higher than humans. 

c) Humans can jump higher if they consume foods containing 

    resilin. 

d) The resilin found in fleas is used to make rubber bands.

QUESTIONS 31-35

Direction: Read the passage below and answer the questions that follow.

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water or a wolf in the woods, fleas are 
ideally equipped to do what they do, making them very difficult to defeat. The bodies of these tiny parasites are extremely hardy and 
well-suited for their job.

A flea has a very hard exoskeleton, which means the body is covered by a tough, tile-like plate called a sclerotic. Because of these plates, 
fleas are almost impossible to squish. The exoskeletons of fleas are also waterproof and shock resistant, and therefore fleas are highly 
resistant to the sprays and chemicals used to kill them.

Little spines are attached to this plate. The spines lie flat against the flea's thin, narrow body as the flea scurries through an animal's fur in 
search of food. However, if anything (like fingers or a self-grooming pet) tries to pull a flea off through the hair coat, these spines will 
extend and stick to the fur like Velcro.

Fleas are some of the best jumpers in the natural world. A flea can jump seven inches, or 150 times its own length, either vertically or 
horizontally. An equivalent jump for a person would be 555 feet, the height of the Washington Monument. Fleas can jump 30,000 times 
in a row without stopping, and they are able to accelerate through the air at an incredibly high rate—a rate which is over ten times what 
humans can withstand in an airplane.

Fleas have very long rear legs with huge thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and 
crouch like a runner on a starting block. Several of their joints contain a protein called resilient, which helps catapult fleas into the air as 
they jump, similar to the way a rubber band provides momentum to a slingshot. Outward facing claws on the bottom of their legs grip 
anything they touch when they land.

The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2 days. One flea can lay up to 50 eggs in one 
day and over 2,000 in her lifetime. Flea eggs can be seen with the naked eye, but they are about the size of a grain of salt. Shortly after 
being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are fully developed adults, and will hatch immediately if 
conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath, and these three factors stimulate 
them to emerge as new adults. If the flea does not detect appropriate conditions, it can remain dormant in the cocoon state for extended 
periods. Under ideal conditions, the entire life cycle may only take 3 weeks, so in no time at all, pets and homes can become infested.

Because of these characteristics, fleas are intimidating opponents. The best way to control fleas, therefore, is to take steps to 

prevent an infestation from ever occurring. 

The primary purpose of the passage is to31.

a) Educate the reader about the physical characteristics of fleas.

b) Compare fleas to other members of the animal kingdom.

c) Relate the problems that can result from a flea infestation.

d) Explain why a flea infestation is hard to get rid of.

The author mentions the Washington Monument in 
order to

34.

a) Estimate the extreme distance that a flea is able to jump.

b) Illustrate a comparison made between fleas and humans. 

c) Clarify a point made regarding fleas and acceleration.

d) Demonstrate the superiority of fleas over humans.
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Abstruse36.

a) Profound

b) Suspended

c) Exciting

d) Recondite

Obfuscate37.

a) Clarity

b) Profuse

c) Confuse

d) Charge

Impervious39.

a) Vulnerable

b) Chaotic

c) Intelligent

d) Impenetrable

Lugubrious40.

a) Shining

b) Cheerful

c) Mournful

d) Blissful

Claustrophobia38.

a) Fear of dogs

b) Fear of water

c) Fear of closed spaces

d) Fear of vampires

QUESTIONS 36-40

Directions: In the following questions choose the word or phrase Synonymous (similar in 
meaning) to the word given.

QUESTIONS:41-45

Directions: In the following questions choose the word which closely fits the given definition.

One who does a thing for pleasure and not as
profession

41.

a) Empirical

b) Diabolical

c) Amateur

d) Philanderer

To free a person from a charge or blame44.

a) Inculpate

b) Exculpate

c) Inculcate

d) Circumvent

Words inscribed on a tomb45.

a) Epitaph

b) Epistle

c) Epilogue

d) Epitome

Animals that live in flock are called43.

a) Gregarious

b) Pugnacious

c) Migratory

d) Parasite

Government by priests or a government which has 
its state religion is called

42.

a) Aristocracy

b) Oligarchy

c) Sacerdotal

d) Theocracy
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I spend my holidays with my family members.46.

a) I spend

b) my holidays

c) with my family members

d) No error

He works hard lest he will fail.47.

a) He works

b) hard lest

c) he will

d) No error

Legal education is a veneer of the human 
personality.

49.

a) Legal education

b) is a veneer

c) of the human personality

d) No error.

Students of Lloyd Law College showed great 
bravura in his internships and placements.

50.

a) Students of Lloyd 

b) showed great bravura

c) in his internships and placements

d) No error

The captain along with his team are practicing very 
hard for the forth coming matches.

48.

a) The captain along with his team

b) are practicing very hard

c) for the forth coming matches

d) No error

QUESTIONS 46-50

Directions: I oint out the error if any.n the following sentences p

In accordance …….your instructions,we have 
remitted the amount to your bankers.

51.

a) with

b) to

c) by

d) towards

The rich tyrannize ………. the poor.52.

a) at

b) over

c) for

d) with

The poor fellow yearns …….true happiness.54.

a) at

b) for

c) off

d) up

He agreed …...........my proposal happily.55.

a) to

b) with

c) for

d) at

In case of need, phone……number 32576.53.

a) at

b) on

c) to

d) through

QUESTIONS 51-55

Directions: In the following questions choose the correct preposition to complete the sentence:
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Nefarious56.

a) Wicked

b) Reprehensible

c) Pious

d) Coherent

Desultory57.

a) Random

b) Methodical

c) Aimless

d) Lacking

QUESTIONS 56-60

Directions: I hoose the most appropriate Antonym (word opposite in 
meaning).

n the following questions c

Candid58.

a) Bluff

b) Devious

c) Equal

d) Blunt

Brisk59.

a) Agile

b) Bustling

c) Sluggish

d) Nimble

Stigma60.

a) Blame

b) Blot

c) Taint

d) Credit
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SECTION - III
MATHEMATICS

The square root of 225 is61.

a) 05

b) 15

c) 25

d) 35

6x3 (3-1) is equal to 67.

a) 53

b) 36

c) 20

d) 10

Which of the following is not a prime number?

a) 23

b) 31

c) 41

d) 27

63.

Find the factors of 112262.

a) 3x9x17x2

b) 3x11x17x2

c) 9x9x17x2

d) 3x11x17x3

Arun can climb a coconut tree by 1.5 feet by each 
lift; however, he slips 0.5 feet every time he makes 
the next lift. How many individual lifts he will 
have to reach the top of the coconut tree of 18.5 
feet?

68.

a) 20

b) 19

c) 18

d) 17

If numbers from 1 to 22 divisible by 2 are 
arranged in descending order, which number 
will be at the 8th place from the bottom?

64.

a) 12

b) 14

c) 18

d) 20

The ratio of two numbers is 4:5. If each 
number is increased by 20, the ratio becomes 6:7. 
The sum of such numbers is 

69.

a) 90

b) 95

c) 100

d) 60

Average age of ten persons learning yoga is 32 years. 
When the age of their instructor is added, the 
average age becomes 34 years. The age of instructor 
is 

65.

a) 54

b) 53

c) 46

d) 56

A box contains 90 discs which are numbered 1 to 
90. If one disc is drawn at random from the box, 
the probability that it bears a perfect square 
number is 

70.

a) 1/10

b) 1/11

c) 1/90

d) 1/9

What is the place value of 5 in 3254710?66.

a) 10000

b) 5

c) 54710

d) 50000

Two coins are tossed simultaneously. What is 
the probability of getting at most one head

71.

a) ¼

b) ½

c) ¾

d) 1
7



In an examination, every candidate took either 
Physics or Mathematics or both. 84% of the 
candidates took Physics. Candidates who 
took Mathematics were half of those who took 
Physics. The total number of candidates being 1000, 
how many took both Physics and Mathematics?

A bag contains 19 red balls, 37 blue balls, and 27 
green balls. If a ball is picked up from this bag at 
random, what is the probability of picking a 
blue ball?

72.

a) 19/83

b) 37/87

c) 34/81

d) 33/88

77.

a) 200

b) 240

c) 250

d) 260

Francis has 18 eggs out of which 12 eggs were sold 
at 10% loss than the cost price. At what mark up 
should he sell the remaining eggs to cover his losses?

73.

a) 5%

b) 10%

c) 15%

d) 20%

If the length and height of a brick increases by 10% 
each, respectively, and the breadth reduces by 20%, 
what is the percentage change in the volume of 
the brick?

74.

a) 2.8

b) 3.0

c) 3.2

d) 3.6

A student rides a bicycle at 8 km/hr and reaches
school 2.5 minutes late. The next day he increases 
the speed to 10 km/hr and reaches school 5 
minutes early. How far is the school from his house?

75.

a) 4 km

b) 8 km

c) 5 km

d) 10 km

Rs 324 is divided among three friends Sonu, Monu 
and Hari in the ratio of 5:6:7. What is Monu's share 
of money?

76.

a) 68

b) 108

c) 60

d) 120

The value of a car depreciates every year at the 
rate of 10% on its value at the beginning of the 
year. If the present value of the car is Rs. 52,488, 
its worth four years ago was

78.

a) Rs. 68,232

b) Rs. 68,234

c) Rs. 69,862

d) Rs. 80,000

A train 300 meters long is running at a speed of 
25 meters per second. How long will it take
to cross a bridge that is 200 meters long ?

79.

a) 5 seconds

b) 10 seconds

c) 20 seconds

d) 25 seconds

In a factory, the production of scooters rose to 
48,400 from 40,000 in 2 years. The rate of growth 
per annum is 

80.

a) 20%

b) 10%

c) 30%

d) 8%

The sum of two numbers is 2490. If 6.5 % of one 
number is equal to 8.5% of the other, the 
numbers are

81.

a) 1411 and 1079

b) 1412 and 1080

c) 1141 and 1709

d) 1214 and 1800
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Pipe A can fill a tank in 10 hours and Pipe B can 
fill the same tank in 12 hours. Both the pipes are 
opened to fill the tank, after 3 hours Pipe A is 
closed. Pipe B will fill the remaining part of the 
tank in 

85.

a) 5 hours

b) 4 hours

c) 5 hours 24 minutes

d) 3 hours

Mr. X left one third of his property to his widow 
and three fifth of the remainder to his daughter. He 
gave the rest to his son who received Rs. 6400. How 
much was his original property worth?

82.

a) Rs. 48,000

b) Rs. 64,000

c) Rs.36,000

d) Rs. 24,000

In a school of 500 students, 102 students can read 
Hindi and Tamil both, 200 students can read only 
Hindi. The student who can read only Tamil are

83.

a) 198

b) 402

c) 302

d) 300

The population of a city is 250 thousand. It is 
increasing at the rate of 2% every year. The growth 
in the population after 2 years is

84.

a) 2500

b) 10000

c) 252000

d) 10100
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SECTION - IV
LOGICAL REASONING

How many 9's are there in the following series 
which are immediately followed by 2 as well as 
well as immediately preceded by 3?
3 9 2 4 3 9 2 3 9 2 3 9 2 9 3

86.

a) 1 

b) 3

c) 2

d) 4

If today is Thursday, after 65 days it will be_____87.

a) Thursday 

b) Sunday

c) Saturday

d) Friday 

Questions: 89-93

Direction: The relationship between the first two words is given. Find a word from the given options 
which bears the similar relation with the third word.

Contract : Private :: Constitution: ……….?89.

a) Private Parties

b) State

c) Public

d) Public Officials

Coercion : Voidable :: Mistake : …….?90.

a) Valid

b) Unlawful

c) Void

d) Illegal

Indian Penal Code : Punishment :: Torts : ……?91.

a) Civil

b) Criminal

c) Damages

d) Injury

Plaintiff : Defendant :: Appellant : …..?92.

a) Opponent

b) Respondent

c) Applicant

d) Party

Executive: President :: Judiciary:................?93.

a) Supreme Court

b) Chief Justice

c) Constitution

d) Government of India
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Dinesh murders Hitesh and confesses to the crime 
to his close friend Jignesh. Jignesh gives him shelter 
for four months before the Police tracks down 
Dinesh. Does Jignesh commit any crime?

88.

a) Yes, he has given shelter to an accused.

b) No, he has not committed any crime himself. 

c) No, he did not assist Dinesh in the commission of crime.

d) No, confession before a civilian is not a crime.



Directions: Read the following directions and answer the questions 94-96

How is Romesh related to Rupal?94.

a) Brother-in-law

b) Cousin

c) Uncle

d) Maternal Uncle

Preeti is Rahul’s95.

a) Niece

b) Sister

c) Aunt

d) Sister-in-law

Rohit and Ravi are related as96.

a) Brother-in-law

b) Cousin

c) Brother

d) Nephew

If CABLE is coded as ZCDAY, then STABLE will 
be coded as

97.

a) TPADAY.

b) TPCDCY.

c) PTCDAY.

d) TPCYAY.

98.

a) I

b) V

c) II

d) III

Kavita,  Rohit and Suraj are children of Mrs. and Mr. Walia. Preeti, Anurag and Sonali are childen of Mrs. and Mr. Kapoor. Preeti 

and Anurag are married and Ruchi and Rahul are their children respectively. Gunjan and Romesh are children of Mrs. and Mr. 

Goel. Gunjan is married to Suraj and has three children named Rupal, Monu and Ravi.

Directions: Q. 99 to Q. 110 : Each question given below is followed by two arguments numbered I and 
II. You have to decide which of the argument is a strong argument and which is a weak argument

Statement: Should the health care services be 
nationalized.
Arguments:
I. Yes, it has been done elsewhere also.
II. No, the quality of health care services will 
     deteriorate.

99.

a) Only argument I is strong.

b) Only argument II is strong.

c) Neither I nor II is strong.

d) Both I and II are strong.

Statement: should there be a world government?
Arguments: 
I. Yes, it will help in eliminating tension among the 
    nations.
II. No, then only the developed countries will 
    dominate in the government.

100.

a) Only argument I is strong.

b) Only argument II is strong.

c) Neither I nor II is strong.

d) Both I and II are strong.

Statement: Should non-vegetarian food be totally 
banned in our country?
Arguments:
I.  Yes, it is expensive and therefore it is beyond the 
     means of most people in our country.
II.  No, nothing should be banned in a democratic 
      country like ours.

101.

a) Only argument I is strong.

b) Only argument II is strong.

c) Neither I nor II is strong.

d) Both I and II are strong.

11

Four of the given five are alike in a certain way 
and form a group. Which is the one that does not 
belong to that group : (I) 217 (II) 143  (III)  214
(IV)  157   (V)   131.

Which of the following supplies the missing 
number in this series : 1, 4, 10, 19, ?

102.

a) 28

b) 31

c) 32

d) 33



Which of the following supplies the missing 
number  in this series: 2, 6, 12, 20, 30, 42, 56,…..?

103.

a) 64

b) 66

c) 72

d) 76

In a certain code language “pik da pa” means 
“where are you”, “da ma fa” means “you may 
come”, “nakasa” means “he may go”. Which of the 
following means “come” in that code language?

104.

a) Da

b) Ja

c) Na

d) Cannot be determined.

Instructions: Syllogisms

It is true that 'All men are honest' and 'All politicians 
are men' for which among the following is it 
impossible to follow from the given premises?

105.

a) Some politicians are not honest.

b) All politicians are honest.

c) One politician is honest.

d) All honest persons are politicians.

Consider a set of premises like this: 'if science and 
religion clash, then critical thinking and dogma 
will clash. Dogma is not acceptable and hence 
religion. But critical thinking shakes the 
foundations of morality'. Identify the conclusion 
which follow from these premises

106.

a) If science is not acceptable, then the foundations of 

    morality are not shaken.

b) If foundations of morality are shaken, then science is 

    acceptable.

c) If science is accepted then the foundations of morality are 

    shaken.

d) Though science is accepted, it cannot shake the foundations 

    of morality.

Consider these premises. 'If Ramesh is 
not nominated then either Stanley or 
Joseph will be nominated. But if either 
Stanley or Joseph is nominated then John 
will have to resign. But John does not 
resign'. Identify the conclusion from 
among the given alternatives

107.

a) Stanley is not nominated.

b) Joseph is not nominated.

c) Ramesh is not nominated.

d) Both Stanley and Joseph are not nominated.

Rashmi's height is 5'3''. Anjali is taller than 
Rashmi but she is not taller than Pooja. 
Pooja is shorter than her cousin Rajan but she 
is not shorter than Rashmi. Who is the tallest 
in the group?

108.

a) Anjali

b) Rajan

c) Pooja

d) Rashmi

Venus is brighter than Mercury, Mercury is 
not brighter than Jupiter. Jupiter is brighter 
than Venus but not brighter than Pluto. Which 
of these is the brightest?

109.

a) Jupiter

b) Mercury

c) Venus

d) Pluto

Squander : Money ::  …………….110.

a) Shirk :  Task

b) Dally :  Time

c) Achieve : Victory

d) Trespass : Land
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SECTION – V
LEGAL APTITUDE AND LEGAL AWARENESS

The maxim 'consensus as idem' means113.

a) Basis of contract

b) To agree on the same thing in the same sense

c) Meeting of minds

d) Overlapping of minds

Dower/ Mehr belongs to114.

a) Absolutely to the wife's mother

b) Absolutely to the wife

c) Absolutely to the wife's father

d) Partly to the wife and partly to the wife's parents

Defamation is115.

a) Both tort and a crime

b) Only a tort

c) Only a civil liability 

d) Only a crime

Lodha Committee Report relates to116.

a) Indian Cricket League

b) Indian Football League

c) Indian Hockey League

d) Indian Premier League

The maxim 'nemodat quad non habet' means112.

a) An innocent and bonafide purchaser gets a proper title as 

    that of a true owner.

b) No man can pass a better title that what he himself has.

c) An innocent occupier of goods can pass a proper title.

d) A finder of goods can pass a proper title.

Principle - An agreement is void if court regards it 
as against the public policy.
Fact - Laxmi promises to marry Rajat after the death 
of her husband. Subsequently, Laxmi's husband died, 
Laxmi refused to marry.

111.

a) Laxmi is liable for breach of promise.

b) She is not liable as it was against the public policy.

c) She will be liable to pay the compensation.

d) She will be liable to be arrested.

For which of the following states did the 
Centre constitute a High Court?

119.

a) Meghalaya

b) Maharashtra

c) Mizoram

d) Madhya Pradesh

How many Schedules are there in the 
Constitution of India?

120.

a) 10

b) 12

c) 14

d) 20

Who was the Chairman of the Drafting 
Committee of the Indian Constitution?

121.

a) M.K. Gandhi

b) Pt. Jawaharlal Nehru

c) Indira Gandhi

d) Dr. B.R. Ambedkar

Universal Adult Suffrage in India is available 
to persons aged

122.

a) 25 years

b) 21 years

c) 18 years

d) 15 years

What is the maximum possible strength of the 
Supreme Court in terms of sitting Judges?

118.

a) 25

b) 26

c) 32

d) 31

NJAC stands for:117.

a) National Juridical Appointments Commission

b) New Judicial Appointment Commission

c) National Judicial Appointments Commission

d) National Judicial Acts Commission
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Entering a house without the owner's permission 
is called :

123.

a) Theft

b) Trespass

c) Dacoity

d) Robbery

How many High Courts are there in India 
at present?

124.

a) 24

b) 29

c) 22

d) 21

There are ___ official languages of the UNO126.

a) 3

b) 2

c) 5

d) 6

The Lieutenant Governor acts as a / an ___
___ for NCT of Delhi.

127.

a) Chief Minister

b) Chief Commissioner

c) Administrator

d) Chief Accountant

What does the rule of 'locus standi' state?128.

a) Ability of the victim to get his grievances addressed in a 

    court of law

b) The right to stand

c) The right to have a local residence

d) The right to travel locally in India

‘Right to Equality’ under the Indian Constitution 
is given under

129.

a) Article 21

b) Article 20

c) Article 14

d) Article 15

Which of the following states has a 'Special Status' 
under the Indian Constitution?

125.

a) Telengana

b) Maharashtra

c) Jammu & Kashmir

d) Mizoram

Election of the President under the Indian 
Constitution is conducted by a system of

130.

a) FPTP

b) Hare System

c) Single Transferable Vote 

d) List system

73rd and 74th Amendments of the Indian 
Constitution relate to

131.

a) Division of States

b) Local Self Government

c) State of Jammu & Kashmir

d) Prime Minister

Who is/ are referred to as 'Permanent Executive' 
in India? 

132.

a) Prime Minister

b) President

c) Judiciary

d) Bureaucrats

Right to Education was added in the Constitution 
by

134.

a) Constitution 86th Amendment Act, 2002

b) Constitution 87th Amendment Act, 2002

c) Constitution 85th Amendment Act, 2003

d) Constitution 90th Amendment Act, 2002

The term 'Homicide' in criminal law means135.

a) Accidental death in a plane crash

b) Killing of human beings

c) Killing one human being by another human being

d) Killing of an animal

The Supreme court of India sits at New Delhi, 
but can sit elsewhere if

136.

a) Majority of the Judges decide

b) President orders

c) State wishes to

d) Parliament enacts a special law through an amendment

A contract entered into by a minor is137.

a) Void ab initio

b) Voidable

c) Valid

d) Impossible 

The Indian democracy is known as133.

a) Direct

b) Indirect

c) Straight

d) Direct

The Right to Property in India is a138.

a) Constitutional right

b) Fundamental right

c) Custodial right

d) Absolute right
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The mistake of fact vitiates a ______ .139.

a) Relationship

b) A right

c) A contract

d) A duty

The Right to Travel is a right under140.

a) Article 14

b) Article 15

c) Article 18

d) Article 19

How many kinds of Emergencies are provided 
for under the Indian constitution?

142.

a) 2

b) 3

c) 4

d) 5

Affirmative Action connotes143.

a) Positive discrimination

b) Action against the offenders

c) Action by police

d) Discrimination against socially backward

DPSP stands for144.

a) Direct Prices for Social Programmes

b) Directive Principles of State Policy

c) Direct Price Policy

d) Direct Policy of States

The Right to Constitutional Remedies is known as145.

a) The backbone of the Indian Constitution

b) The Heart and Soul of the Indian Constitution

c) The cornerstone of the Indian Constitution

d) The foundation of the Indian Constitution

The provision of ‘Amendment’ is available under141.

a) Article 365

b) Article 366

c) Article 368

d) Article 367

Assertion (A)- An accused person cannot be 
compelled to be witness against himself.
Reason (R)- An accused person cannot be 
compelled to give his thumb impression.

146.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.

c) A is correct but R is wrong.

d) A is wrong but R is correct.

Assertion (A)- It is the legal and constitutional 
duty of the state to provide legal aid.
Reason (R)-  No one shall be denied justice by 
reason of his poverty.

147.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.

c) A is correct but R is wrong.

d) A is wrong but R is correct.

Assertion (A)- The Constitution vests executive 
powers of the Union in the President of India.
Reason (R)-President of India is the 
Constitutional head of the State.

148.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.

c) A is correct but R is wrong.

d) A is wrong but R is correct.

Principle- The occupier of a premise owes a duty 
of care to all his invitees and visitors.
Fact- Raman has got the electric fencing around 
Raman’s house.  Suresh with intent to commit theft 
in his premise enters into the premise. Suresh gets 
electrocuted by the wires. Suresh plans to sue 
Raman. Will his claim succeed?

149.

a) Yes, because it is the occupier's duty to take care of his visitors.

b) No, because Suresh himself is guilty of theft, he is not a visitor.

c) No, because one should be careful about one's safety.

d) Yes, because Suresh  did not know about the electric fence.

A driver of a tourist bus, while negotiating an 
unmanned railway crossing at a speed of 30 
kmph banged a passenger train. Consequently, one 
of the tourists was killed. On investigation, it was 
found that the driver could not stop the bus because 
of a defect in brakes not known to him. Is he guilty 
of negligence?

150.

a) No, this is mechanical defect.

b) Yes, this is human defect.

c) No, this is an act of God not correctable anyways.

d) Yes, driver was negligent for defective brakes.
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